



This is a repository copy of *On the Inversion Problem for Nonlinear Systems*.

White Rose Research Online URL for this paper:
<http://eprints.whiterose.ac.uk/79341/>

Monograph:

Banks, S.P. and Temchin, M. (1993) *On the Inversion Problem for Nonlinear Systems*. Research Report. ACSE Research Report 478 . Department of Automatic Control and Systems Engineering

Reuse

Unless indicated otherwise, fulltext items are protected by copyright with all rights reserved. The copyright exception in section 29 of the Copyright, Designs and Patents Act 1988 allows the making of a single copy solely for the purpose of non-commercial research or private study within the limits of fair dealing. The publisher or other rights-holder may allow further reproduction and re-use of this version - refer to the White Rose Research Online record for this item. Where records identify the publisher as the copyright holder, users can verify any specific terms of use on the publisher's website.

Takedown

If you consider content in White Rose Research Online to be in breach of UK law, please notify us by emailing eprints@whiterose.ac.uk including the URL of the record and the reason for the withdrawal request.



eprints@whiterose.ac.uk
<https://eprints.whiterose.ac.uk/>



On the Inversion Problem for Nonlinear Systems

by

S. P.Banks *, D.J.Bell † and M.Temchin †

* Department of Automatic Control and Systems Engineering

University of Sheffield

Mappin Street

SHEFFIELD S1 4DU

† Department of Mathematics

UMIST

Manchester

Research Report No. 478

April 1993

Abstract

A new homotopy technique is applied to the inversion problem for nonlinear systems, both in the input-output and state-space formulations.

Keywords: Inversion problem, Homotopy theory, Lie series.

DATE OF RETURN

UNLESS RECALLED BY LIBRARY

1 Introduction

The inversion problem in systems theory has a long history [3,4,6,7,8,9] and has an important position in the field. Regarding a system as an input-output map

$$S : U \longrightarrow Y$$

from an input (Banach) space U into an output (Banach) space Y , the inverse problem is simply to find

$$S^{-1} : \mathcal{R}(S) \subseteq Y \longrightarrow U$$

if it exists. The linear case is well understood and has been completely solved by Silverman [7]. In the nonlinear case, the implicit function theorem [2] is important in the existence proof. In this paper we shall give a new homotopy approach to system inversion and apply it to nonlinear dynamical systems. For this we shall use a global expansion technique based on generalized Lie series developed in [1].

The structure of the paper is as follows. In section 2 we derive the homotopy method, which has been applied in other circumstances [5]. In section 3, the method is applied to systems with a finite-dimensional realization by using Silverman's algorithm and in section 4 we consider the case of a nonlinear analytic dynamical system in state-space form. Finally, a simple example to illustrate the formal technique will be given.

2 General Homotopy Method

In this section we shall consider a general input-output map $S : U \longrightarrow Y$ defined on Banach spaces U, Y . We shall assume that S is Frechet differentiable. If S is (locally or globally) invertible then given $y^* \in Y$ we wish to find

$$u^* = S^{-1}(y^*).$$

Let $(u_0, y_0) \in U \times Y$ be any known input-output pair, i.e.

$$y_0 = S(u_0),$$

and put

$$\bar{S}(u) = S(u) - y^*. \tag{2.1}$$

Define the homotopy H between the functions \bar{S} and the constant function $u \longrightarrow \bar{S}(u_0)$ by

$$H(u, t) = \bar{S}(u) + (t - 1)\bar{S}(u_0). \tag{2.2}$$

We shall find a differentiable curve $G : [0, 1] \longrightarrow U$ with

$$G(0) = u_0 \quad , \quad G(1) = u^*,$$

i.e. one which connects the known value u_0 to the desired one u^* . Note that

$$H(u_0, 0) = \bar{S}(u_0) - \bar{S}(u_0) = 0$$

and

$$H(u^*, 1) = \bar{S}(u^*) = S(u^*) - y^* = 0.$$

We shall therefore search for $G(t)$ among those functions which satisfy

$$H(G(t), t) = 0. \quad (2.3)$$

Lemma 2.1 G satisfies the first-order differentiable equation

$$\dot{G}(t) = -[\mathcal{F}S(G(t))]^{-1}(y_0 - y^*), \quad G(0) = u_0. \quad (2.4)$$

Proof This follows by differentiating (2.3). Thus,

$$\begin{aligned} 0 &= \frac{d}{dt}H(G(t), t) \\ &= \mathcal{F}_G H(G(t), t) \frac{dG}{dt} + \frac{\partial H}{\partial t}(G(t), t) \\ &= \mathcal{F}_u \bar{S}(u)|_{u=G} \dot{G} + \bar{S}(u_0) \\ &= \mathcal{F}S(G)\dot{G} + S(u_0) - y^*. \end{aligned}$$

□

If we assume that $\mathcal{F}S(u)$ is continuous and invertible for each u and that $\|(\mathcal{F}S(u))^{-1}\| \leq \epsilon$ for all $u \in U$ and some $\epsilon > 0$, then an easy application of the implicit function theorem shows that equation (2.4) has a unique solution $G(t)$. Equation (2.4) can be solved iteratively by Euler's method, i.e.

$$G_{k+1} = G_k - h(\mathcal{F}S(G_k))^{-1}(y_0 - y^*) \quad (2.5)$$

$$G_0 = u_0$$

for $k = 0, 1, \dots, L-1$. This process will give an approximation G_L to u^* . Using Newton's algorithm we can write

$$G_L^{i+1} = G_L^i - (\mathcal{F}S(G_L^i))^{-1}(S(G_L^i) - y^*) \quad (2.6)$$

$$G_L^0 = G_L \quad (2.7)$$

for $i = 0, 1, 2, \dots$. Simple estimates then show that the combined approximations (2.5) and (2.6) converge to a unique solution u^* . (Details can be found in [5]).

3 Application to Systems with s Finite-Dimensional Realization

Suppose that the linear system $\mathcal{F}S(u)$ is shift-invariant and finite-dimensional for each $u \in U$ so it has a state space representation of the form

$$\begin{aligned}\dot{x}(t) &= A_u x(t) + B_u v(t) \\ z(t) &= C_u x(t) + D_u v(t)\end{aligned}\tag{3.1}$$

where $x(t) \in \mathbf{R}^n$, $v(t) \in \mathbf{R}^p$, $y(t) \in \mathbf{R}^p$.

In order to solve (2.4) numerically (by, say Euler's method) then we can use Silverman's algorithm [7] to invert the linear system (3.1) at each iteration. (Note that we can obtain (3.1) for the linear system $\mathcal{F}S(u)$ by taking the Laplace transform of the system and realizing it by standard methods in the form (3.1).) This algorithm proceeds by defining a sequence of systems derived from (3.1):

$$\begin{aligned}\dot{x}(t) &= A_u x(t) + B_u v(t) \\ z(k)(t) &= C_u(k)x(t) + D_u(k)v(t)\end{aligned}$$

where $C_u(k)$ and $D_u(k)$ are obtained as follows. If $q_0 = \text{rank } D_u < p$, then

$D_u(0) = \begin{bmatrix} \bar{D}_u(0) \\ 0 \end{bmatrix}$, where $D_u(0) = S_0 D_u$ and S_0 is a nonsingular $p \times p$ matrix. Define $C_u(0) = S_0 C_u$. Then if

$$D_u(k) = \begin{bmatrix} \bar{D}_u(k) \\ 0 \end{bmatrix}$$

where $D_u(k)$ has rank $q_k < p$, then we partition $C_u(k)$ in the same way as

$$C_u(k) = \begin{bmatrix} \bar{C}_u(k) \\ \tilde{C}_u(k) \end{bmatrix}$$

and we find a nonsingular matrix S_{k+1} such that

$$D_u(k+1) \triangleq S_{k+1} \begin{bmatrix} \bar{D}_u(k) \\ \tilde{C}_u(k) B_u \end{bmatrix} = \begin{bmatrix} \bar{D}_u(k+1) \\ 0 \end{bmatrix}$$

where $\bar{D}_u(k+1)$ has q_{k+1} rows and rank q_{k+1} . Then, if $D_u(\alpha)$ has rank p for some α , then the inverse system of (25) is given by

$$\begin{aligned} \dot{\xi}(t) &= (A_u - B_u(D_u(\alpha))^{-1} C_u(\alpha)) \xi(t) + \\ &B_u(D_u(\alpha))^{-1} z_\alpha(t) \end{aligned}$$

where

$$z_\alpha(t) = \left(\prod_{i=0}^{\alpha} S_{\alpha-i} M_{\alpha-i-1} \right) y(t),$$

and M_k is given by

$$M_k = \begin{bmatrix} I_{q_k} & 0 \\ 0 & I_{p-q_k}(d/dt) \end{bmatrix}.$$

From Silverman [7], we have

Theorem 4.1 *The system (3.1) is invertible if and only if there exists a positive integer $\alpha < n$ such that $q_\alpha = p$. \square*

Therefore we have

Corollary 4.1 *A nonlinear input-output map $S : U \rightarrow Y$ is invertible if it is differentiable with a derivative $\mathcal{F}S(u)$ which has a finite-dimensional realization of the form (3.1) such that there exist integers $\alpha(u)$ determined as above for each u satisfying $\alpha(u) < n$. \square*

4 Application to Nonlinear Dynamical Systems

Consider the general analytic system

$$\dot{x} = f(x, u) \tag{4.1}$$

$$y = h(x, u). \tag{4.2}$$

(We shall consider the case where $\dim u = \dim y=1$, i.e. scalar systems for simplicity. At the expense of more notational complexity, we can easily extend the theory to the general case.) In order to apply the general theory we must first find the input-output map for (4.1). We shall use the global bilinearization technique which uses the Lie series (Banks, [1]). First, augment (4.1) by making u into a state:

$$\begin{aligned} \dot{x} &= f(x, u) \\ \dot{u} &= v \end{aligned} \tag{4.3}$$

$$y = h(x, u)$$

and we obtain the system

$$\begin{aligned} \dot{z} &= \phi(z) + \begin{pmatrix} 0 \\ 1 \end{pmatrix} v \\ y &= h(z) \end{aligned} \quad (4.4)$$

where $z = \begin{pmatrix} 0 \\ 1 \end{pmatrix}$ and $\phi(z) = \begin{pmatrix} f(x, u) \\ 0 \end{pmatrix}$. Now define the functions

$$\begin{aligned} g_1(z) &= h(z) = y \\ g_i(z) &= \begin{cases} \frac{\partial g_{i/2}}{\partial z}(z) \cdot \phi(z) & \text{if } i \text{ even} \\ \frac{\partial g_{(i-1)/2}}{\partial z}(z) \cdot \begin{pmatrix} 0 \\ 1 \end{pmatrix} & \text{if } i \text{ odd} \end{cases} \end{aligned}$$

Hence, from (4.3) we have

$$\begin{aligned} \dot{g}_i(z) &= \frac{\partial g_i}{\partial z}(z) \dot{z} \\ &= \frac{\partial g_i}{\partial z}(z) \cdot \phi(z) + v(t) \frac{\partial g_i}{\partial z}(z) \cdot \begin{pmatrix} 0 \\ 1 \end{pmatrix} \\ &= g_{2i}(z) + v(t)g_{2i+1}(z) \end{aligned}$$

and so we obtain the bilinear system

$$\dot{G} = AG + v(t)BG, \quad G(0) = G_0 \quad (4.5)$$

where

$$G = (g_1, g_2, \dots)^T,$$

and $A = (a_{ij}), B = (b_{ij})$ are infinite-dimensional (block) matrices defined by

$$a_{ij} = \delta_{2i,j} I_{n \times n}$$

$$b_{ij} = \delta_{2i+1,j} I_{n \times n} .$$

The initial state G_0 is given by

$$G_0 = \left(z_0, f(z_0), \begin{pmatrix} 0 \\ 1 \end{pmatrix}, ((\partial f)f)(z_0), \left((\partial f) \cdot \begin{pmatrix} 0 \\ 1 \end{pmatrix} \right) (z_0), \dots \right)^T$$

where $\partial = \partial/\partial z$. (Note that we are regarding G as an infinite vector of vector-valued functions.) We can evaluate the Volterra series for (4.4) in the usual way:

Let

$$G(t) = \sum_{k=0}^{\infty} \xi_k(t) ,$$

where

$$\xi_0(t) = e^{At} G_0$$

$$\xi_k(t) = \int_0^t e^{A(t-s)} B v(s) \xi_{k-1}(s) ds. \quad (4.6)$$

Hence, iterating (4.5) we obtain

$$\begin{aligned} \xi_k(t) &= \int_0^t \int_0^{\tau_1} \dots \int_0^{\tau_{k-1}} e^{A(t-\tau_1)} B e^{A(\tau_2-\tau_1)} B \dots B e^{A(\tau_k-\tau_{k-1})} B \cdot \\ &= e^{A\tau_k} G_0 \cdot v(\tau_1) \dots v(\tau_k) d\tau_1 \dots d\tau_k , \\ &\triangleq M_k(v, \dots, v)(t) \end{aligned} \quad (4.7)$$

where M_k is a multilinear operator in v . Let S denote the input-output map

$$S : v \longrightarrow \sum_{k=0}^{\infty} M_k(v, \dots, v) , \quad (4.8)$$

and let $L_k(v; \cdot)$ denote the Frechet derivative of $M_k(v, \dots, v)$ at v (i.e. $L_k(v; \cdot)$ is a linear operator $w \longrightarrow L_k(v; w)$). Then

$$L_k(v, \cdot) = \sum_{i=1}^k M_k(v, \dots, \underbrace{\cdot}_i, \dots, v).$$

We therefore have

Lemma 4.1 The Frechet derivative of the Volterra series defined by (4.7) is given by

$$\mathcal{F}S_v(u) = \sum_{k=1}^{\infty} L_k(v; u)$$

where

$$L_k(v; u) = \int_0^t \int_0^{\tau_1} \dots \int_0^{\tau_{k-1}} e^{A(t-\tau_1)} B e^{A(\tau_2-\tau_1)} B \dots B e^{A(\tau_{k-1}-\tau_k)} B \cdot e^{A\tau_k} G_0 \cdot v(\tau_1) \dots u(\tau_j) \dots v(\tau_k) d\tau_1 \dots d\tau_k , \quad (4.9)$$

□

Now let P denote the operator $P : G = (g_1, g_2, \dots)^T \longrightarrow y$ where $g_1 = h(z) = y$.

Then we must invert the linear operator L_v defined by

$$L_v(u) = \sum_{k=1}^{\infty} P L_k(v; u)$$

for any v .

Lemma 4.2 Each linear operator $P L_k(v; u)$ can be written as an integral

operator of the form

$$y(t) = \int_0^t K_k(t, \tau, v) u(\tau) d\tau$$

for some kernel K_k .

Proof This is proved easily from (4.8) by extending the kernel by zero so that the integrals all range from 0 to t and then using Fubini's theorem to interchange the integrals. \square .

The inverse of the locally linearized system obtained by Frechet differentiating the input-output map is then found by solving a linear integral equation.

Example Consider the single-input, single-output system

$$\dot{x}_1 = x_1^2 + x_1 u, \quad x_1(0) = 1, \quad x_2(0) = 0.$$

$$\dot{x}_2 = x_1 x_2$$

$$y = x_1 + x_2$$

In this case we do not need to augment the state with u as in (4.2) since the system is already linear-analytic. Hence we define

$$g_i(x) = \begin{cases} x & \\ \frac{\partial g_{i/2}}{\partial x}(x) \cdot \begin{pmatrix} x_1^2 \\ x_1 x_2 \end{pmatrix} & \text{if } i \text{ even} \\ \frac{\partial g_{(i-1)/2}}{\partial x}(x) \cdot \begin{pmatrix} x_1 \\ 0 \end{pmatrix} & \text{if } i \text{ odd} \end{cases} \quad (4.10)$$

Then,

$$\dot{g}_i(x) = \frac{\partial g_i}{\partial x} \dot{x}$$

$$\begin{aligned}
&= \frac{\partial g_i}{\partial x} \begin{pmatrix} x_1^2 \\ x_1 x_2 \end{pmatrix} + u \frac{\partial g_i}{\partial x} \begin{pmatrix} x_1 \\ 0 \end{pmatrix} \\
&= g_{2i}(x) + u \partial g_{2i+1}(x).
\end{aligned}$$

As an example, we shall evaluate the second order term ($k = 2$) in (4.8). Thus,

$$\begin{aligned}
L_2(v; u) &= \int_0^t \int_0^{\tau_1} e^{A(t-\tau_1)} B e^{A(\tau_1-\tau_2)} B e^{A\tau_2} G_0 u(\tau_1) v(\tau_2) \tau_1 \tau_2 \\
&\quad + \int_0^t \int_0^{\tau_1} e^{A(t-\tau_1)} B e^{A(\tau_1-\tau_2)} B e^{A\tau_2} G_0 v(\tau_1) u(\tau_2) \tau_1 \tau_2
\end{aligned}$$

Now,

$$(e^{At})_{ij} = \sum_{n=0}^{\infty} \frac{t^n}{n!} \delta_{2^n i, j} I_{2 \times 2}$$

and so

$$(e^{At} B)_{ij} = \sum_{n=0}^{\infty} \frac{t^n}{n!} \delta_{2 \cdot 2^n i+1, j} I_{2 \times 2}$$

whence

$$\begin{aligned}
(e^{At_1} B e^{At_2} B)_{ij} &= \sum_{k=1}^{\infty} \sum_{n_2=0}^{\infty} \sum_{n_1=0}^{\infty} \frac{t_1^{n_1}}{n_1!} \delta_{2 \cdot 2^{n_1} i+1, k} \frac{t_2^{n_2}}{n_2!} \delta_{2 \cdot 2^{n_2} k+1, j} I_{2 \times 2} \\
&= \sum_{n_1=0}^{\infty} \sum_{n_2=0}^{\infty} \frac{t_1^{n_1}}{n_1!} \frac{t_2^{n_2}}{n_2!} \delta_{2 \cdot 2^{n_2} (2 \cdot 2^{n_1} i+1)+1, j} I_{2 \times 2}
\end{aligned}$$

and finally,

$$\begin{aligned}
&\left(e^{A(t-\tau_1)} B e^{A(\tau_1-\tau_2)} B e^{A\tau_2} \right)_{ij} \\
&= \sum_{k=1}^{\infty} \sum_{n_1=0}^{\infty} \sum_{n_2=0}^{\infty} \sum_{n_3=0}^{\infty} \frac{(t-\tau_1)^{n_1}}{n_1!} \frac{(\tau_1-\tau_2)^{n_2}}{n_2!} \delta_{2 \cdot 2^{n_2} (2 \cdot 2^{n_1} i+1)+1, k} \frac{\tau_2^{n_3}}{n_3!} \delta_{2^{n_3} k, j} I_{2 \times 2} \\
&= \sum_{n_1=0}^{\infty} \sum_{n_2=0}^{\infty} \sum_{n_3=0}^{\infty} \frac{(t-\tau_1)^{n_1}}{n_1!} \frac{(\tau_1-\tau_2)^{n_2}}{n_2!} \frac{\tau_2^{n_3}}{n_3!} \delta_{2^{n_3} 2 \cdot 2^{n_2} (2 \cdot 2^{n_1} i+1)+1, j} I_{2 \times 2}
\end{aligned}$$

Next, G_0 can be found inductively from the definition (4.9). Thus,

$$\begin{aligned}
g_1 &= x \\
g_2 &= I \begin{pmatrix} x_1^2 \\ x_1 x_2 \end{pmatrix} \\
g_3 &= I \begin{pmatrix} x_1 \\ 0 \end{pmatrix} \\
g_4 &= \frac{\partial g_2}{\partial x} \begin{pmatrix} x_1^2 \\ x_1 x_2 \end{pmatrix} \\
&= \begin{pmatrix} 2x_1 & 0 \\ x_2 & x_1 \end{pmatrix} \begin{pmatrix} x_1^2 \\ x_1 x_2 \end{pmatrix} \\
&= \begin{pmatrix} 2x_1^3 \\ 2x_1^2 x_2 \end{pmatrix} \\
&\vdots \\
&\vdots \\
&\vdots
\end{aligned}$$

and

$$G_0 = \left(\begin{pmatrix} 1 \\ 0 \end{pmatrix}, \begin{pmatrix} 1 \\ 0 \end{pmatrix}, \begin{pmatrix} 1 \\ 0 \end{pmatrix}, \dots \right).$$

Put

$$\begin{aligned}
(\overline{K})_i(t, \tau_1, \tau_2) &= \\
&\sum_{k=1}^{\infty} \left(\sum_{n_1=0}^{\infty} \sum_{n_2=0}^{\infty} \sum_{n_3=0}^{\infty} \frac{(t - \tau_1)^{n_1}}{n_1!} \frac{(\tau_1 - \tau_2)^{n_2}}{n_2!} \frac{\tau_2^{n_3}}{n_3!} \delta_{2n_3 2 \cdot 2n_2 (2 \cdot 2n_1 + 1) + 1, k} I_{2 \times 2} \right) G_{0k}
\end{aligned}$$

Then L_2 can be written in the form

$$\begin{aligned} L_2(v; u) &= \int_0^t \int_0^{\tau_1} \overline{K}_i(t, \tau_1, \tau_2) u(\tau_1) v(\tau_2) d\tau_1 d\tau_2 \\ &\quad + \int_0^t \int_0^{\tau_1} \overline{K}_i(t, \tau_1, \tau_2) v(\tau_1) u(\tau_2) d\tau_1 d\tau_2 \end{aligned}$$

Changing variables in the first integral gives the kernel K_2 in lemma 4.2.

5 Conclusion

In this paper we have applied a simple homotopy argument to the inversion problem in systems theory. The method leads to a simple numerical algorithm which requires only the inversion of linear systems along a trajectory in the input space. The numerical aspects of the results will be investigated in a later paper.

6 References

- [1]. Banks, S.P. and Iddir, N. 'Nonlinear systems, the Lie series, and the left shift operator: application to nonlinear optimal control', IMA J. Math. Contr. and Inf., **9**, 23-34, 1992.
- [2]. Hamilton, R.S. 'The inverse function theorem of Nash and Moser', Bull Am. Math. Soc., **7**, 65-222, 1982.
- [3]. Hirschorn, R. 'Invertibility of control systems on Lie groups', SIAM J. Control, **15**, 1034-1049, 1977.

- [4]. Hirschorn, R. 'Invertibility of nonlinear control systems', SIAM J. Control, **17**, 289-297, 1979.
- [5] Navarro, N.P and Sy, P.W. 'A solution of $F(f) = 0$ using a homotopy path, Mat. Aplic. Comp., **9**, 195-200, 1990. / [6]. Rebhuhn.D , 'Invertibility of C^∞ multivariable input-output systems', Trans. Aut. Contr., **AC-25**, 207-212, 1980.
- [7]. Silverman. L.M. 'Inversion of multivariable linear systems', IEEE Trans. Aut. Contr., **AC-14**, 270-276, 1969.
- [8]. Singh. S.N. 'Invertibility of observable multivariable nonlinear systems', Trans. Aut. Contr., **AC-27**, 487-489, 1982.
- [9]. Tsiniias. J and Kalouptsidis. N. , 'Invertibility of nonlinear analytic single-input systems ', Trans. Aut. Contr., **AC-28**, 931-933, 1983.

Acknowledgement

This work was partially supported by the SERC under grant number GR/G17752.

